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Practice SAT Chemistry Trial

1. What is an excited state electrons configuration of fluoride ion?

A.

moow

1522522p®3s?
1s22s%2p®3s23p°
1s22s22p°
1s22s22p°3st
1s22s22p*3st

2. The excited electron of sodium atom locates in orbital

moow?>

1s
2S

2p
3s

3p

3. Arectangular block of aluminum alloy weighs 20.45 g. The dimensions of the

block are 8.4 cm by 5.5 cm/by 4.6 cm. From this data, what is the density of

this alloy?

A.

0.0962 g/cm?

B. 0.0960 g/cm?

m o O

0.096 g/cm?
0.09 g/ecm3
0.9.g/cm?

4. What is the number of moles in 15.0 g CO2?
(Atomic mass of C =12.011, O = 16.00 g/mol)

A.

moow

0.341
0.34
0.3
0.340
0.35



5. What statement is/are true for 1s22s22p°>3s?

moowe?

|. Excited state electrons configuration of neon atom
Il. Excited state electrons configuration of magnesium ion
[ll. Excited state electrons configuration of oxygen atom

I

I

I and Il

I and 111

[, I'and IlI

1522s252pb3s23p°®

6. The electrons configuration above represents following EXCEPT

moow?>

Ground state electrons configurationrof sulfide ion
Ground state electrons configuration of argon atom
Ground state electrons configuration of calcium ion
Ground state electrons configuration of potassium ion

Ground state electrons configuration of potassium atom

7. What is the mass of in gram of 0.031 mol NO2?
(Atomic mass‘of N = 14.00, O = 16.00 g/mol)

A.

m o O

1.426
1.43
1.4
1.40
1.42





